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1) The excitation curve of a potential transformer is used

a. In finding the pick-up current I, .

b. In testing its performance.
c. To calculate the secondary current.
d. To calculate the excitation reactance.

I.D.#

(5 Marks)

2) The CO-8 relay with a current tap setting of 6 amperes and a time-dial setting of 2 is used
with a 100:5 current transformer. The relay operating time for a secondary current of 15 is

Relay operating time (seconds)

a. 2.2 sec

b. 1.1 sec

c. 0.4 sec

d. None of the above
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Relay input current in multiples of current tap setting

(5 Marks)



